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#EHE T /1 E 5 Version 08404
Section 4 (TERETIMAHLZ18Y E101

Research resources comes from:

® Get materials from: 31| Lo archives:

® Internet and

® 32 A Jlfound by librarian in Library
33 surrounded by ditch  (for not for drinking
34 X’ advantage: increase production of peas and beans

which m the soil .

35 Local wealthy people like to buy (porcelain) and delicates from

Mat the local place.
36 guarded against m&am attacking crops. {
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Research
resources comes
from:

e museum archives
e Internet

« A map found by
librarian

ENGLAND & WALES
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Local wealthy
people like to
buy porcelain
from shops at

the local place.
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o == | 37_40) Multiple choice
FHUPP TRy :
B‘ 37. How about a new farming method:
mixing farming 7 & F L2
A etter soil condition
B it has impact to cattle work in the field.
C e s tiv Eeifto ensure high production of
different weather. mixed-farming can prevent the bad
weather
38 deep plough has the function of changing
A something about the seeds
B the use of animals pulling the plough (cattle for example)
C

RIEEN
ENER

39 what about the new (innovative) windmills (X %)
8 people can ajust the fan to face the wind

40 why poor people/small household has higher production?

C Ecause poor families has
more labour, an effective way for plough-ing in the past.




Advantages:

1. It offers highest return on farm
business, as the by products of farm
are properly utilized.

2. It provides work throughout year.
3. Efficient utilization of land, labour,
equipment and other resources.

4. Mixed farming increases social
status of the farmer.

5. Manures available from livestock
maintain soil fertility.
6. It helps in supplying all the food
needs of the family members.

/. If one source of income is lost he
can maintain his family from other
source of income.

8. Milk cattle’s provide draft animals for
crop production and rural transport.,
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New windmills:

people can
adjust the fan to

face the wind.
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Section 4

Research resources comes from:
® Get materials from: 3 l-archives;
® [nternet and
® 32A ound by librarian in Library
33 surrounded by ditch  (for not for drinking
34 X’ advantage: increase production of peas and beans

which[ | the soil .

35 Local wealthy people like to buy (porcelain) and delicates from

-at the local place.
o

36 guarded against ‘from attacking crops. L
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iPhone e 37-40) Multiple choice
@” 37. How about a new farming method:

RMWE

= mixing farming J& & A iE?

.Nit helps "I [ [better soil condition

B it has impact to cattle work in the field.

Chn s lito ensure high production of
different weather. mixed-farming can prevent the bad
weather

38 deep plough has the function of changing

A something about the seeds

B the use of animals pulling the plough (cattle for example)

c

7l

9 % 40 why poor people/small household has higher production?

(- A
ﬁ‘\/{ A | C | free farmers have enough |Because poor families has

more labour, an effective way for plough-ing in the past.
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Section 4 CHEE TMIHLZ18) 3

31-35) completions

31 engineering ( T.#22%) includes building ("} [[21 " Jand
GBHBHRHTHED, EEHE D)

32 Previously talked about important building.? The
important built in the nineteenth century. Wingdo,,

(railway Great Western by Mr Brunel ) f ?g
33 Mr. Brunel thought sail in Arctic would be

he did not attend the contest of saili
34 he chose bigger ship, coz the size of
bigger ship would be comparatively small ——

the **** was[ = 1\ [Jby wood and steel Eansn

(test papers offered by www.ivuce.com, copyright) g’mﬁ

35 he built a company with his Brother | =%5%
company ~
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36-40) Multiple choices

36 what was the reaction of sailors when ship was on fire?
.8 jumped into the water and survived

B stayed on the board C Drowned to death

37 why did the fire cause little damage? There was a (one officer

brought handy fire extinguisher KX KX#5 ) -

38 How did Great Westerner from Bristol arrived for
London? A |0 T (Great Western was launched on 19
July 1837 and then sailed to London, then where she was fitted with
two side-lever steam engines ) 8
39 why were there many other companies also sailing across the Atlantm'?

A too many passages B. beat rivals competitors C

Greatl Western was launched in July 1837 and ready for her maiden Bristol-New }"urk voyage
the following April.. Its rival (5 7501 F the Sirius )left Cork , Great Western still came within a
day of overtaking Sirius to New York. The Great Western Steam Ship Company is considered
the first regular transatlantic steamship service.

40 chose the Brother company : they need Specialist and [0 1010100 Hsailors




HEEWT 1 B3 Version 09466

Section 4

31-35) completions

31 engineering (T_F2%%) includes building-nd roads
(FHL M, 8 —1)

32 Previously talked about import  building.? The

important mbuilt in the nineteenth century. wingda,,
(railway Great Western by Mr Brunel ) f Qg
33 Mr. Brunel thought sail in Arctic would be

_He did not attend the contest of satling in...... )
34 he chose bigger ship, coz the size of h in “r}m ,y

blgger ship would be comparatively small — Poctsen-

-
o+ was[ LU0 by wood and steel SRS 4
(ffsf papers offered by www.iviice.com, copyright) ;ﬂ,‘ﬂﬂﬁ g @
. - 5 8 ¥
35 he built a _ company with his Brother m [

company
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36-40) Multiple choices

36 what was the reaction of sailors when ship was on fire?

L jumped into the and survived

B stayed on the board C Drowned to death

37 why did the fire cause little damage? There wasa [l (one officer

brought handy fire extinguisher X X#5 ) - g
38 How did Great Westerner from Bristol arrived for B K 1
London? A (Great Western was launchedon 19 .~ --'U

July 1837 and then sailed to London, then where she was fitted with

two side-lever steam engines ) .
39 why were there many other companies also sailing across the Allantlc'?

A too many passages B. beat rivals competitors C

Great Western was launched in July 1837 and ready for her maiden Bﬂ.vm.-’-New York vovage
the following April.. Its rival (3% 251 F the Sirius )left Cork , Great Western still came within a
day of overtaking Sirius to New York. The Great Western Steam Ship Compeany is considered
the first regular transatlantic steamship service.

40 chose the Brother co : 1alist and
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HEIF /7 EE Version 10419
Section 4 CHT 7 T 18 5

31-40) Completion

31 The process on farm needs more |11~ for
- sitlirrigation

App Storeld@E

EERRIT 32 plant corps and transport which

iPhone needs more E very pricy Not

FHLAPP Economical

e availability of [10]

RBES 33 major advantage : the increase o

(IELTS test papers offered by ks.ipredicting.com, copyright)

34 Need constant _. which 1s a must
(IELTS test papers offered by ks.ipredicting.com, copyright)

W P

Fwm bhor
rediciing

oy



prediciing

"

35 To wildlife anlmals Cause hallitat
losses for wildlife animals

DN BT population
36 Loss of nutrient in the m . degradation

indoor farm benefit:

37 reduce the risk of mv or less ~

- B2 A= AFHE not produce (=B A

(IELTS test papers offered by ks.ipredicting.com, copyvright)
38 Great erosion (7K 1{fii %) was caused by

39 MHerg}f is un reliable

Sl

40 Plant of *#*%* need certain
(IELTS test papers offered by ks.ipredicting.com, copyright




Fortun-ate spread




¢
X
r
=
I
n
o
X




E MITRAAYS
prediciing

Section 4

31-40) Completion
31 The process on farm needs more for

ppp sttt and [0

EEERAN 32 plant corps and transport which

iPhone needs more . very pricy Not

FHAPP Economical

REEE 33 major advantage : the increase

iEHE availability of [ Fm 4has

(IELTS ftest papers offered by ks.ipredicting.com, copyright) rediciing
34 Need constant , which is a must (&) syt .




1&“ 35 To wildlife animals: Cause
losses for wildlife animals

Declined in| _
36 Loss of nutrient in the |||, degradation

indoor farm benefit:

37 reduce the risk of few or less ~

_ BRE S NI not produce [ (—X B HE

(IELTS test papers offered by ks.ipredicting.com, copyright)
38 Great erosion (7K 77t 2%) was caused by |

39 | |energy is un reliable

40 Plant of **** need certain| |

(IELTS test papers offered by ks.ipredicting.com, copyright QANCIES:

BAERMERE A, TAF-BXETEAAMLNMERGEEAESE, EEHFEL .
i FHL (pad, & 08) B RALAM CF £ %
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HEIT /JEE Version 11403
Section 4 (U AITMINLE14) 20T/

31-33) Choose one correct letter A, B or C

[RARET R EASKRA, hiﬁiﬁﬁ&iﬂﬁﬁﬂiiﬂl#ﬁhﬁ| I\
31 who did this research is going to report:: i

A research by himself
|}l research by experts
C research by government

32 What kind of birds are harmed most?
A birds in coastal region B animals feeding on fish and seafood

C Pl s i o S il e RS (UFFlboth in costal areas and inland. in

coastal regions (#17) large flocks (i #¥ K 4E animals feeding on fish and seafood )
33 wind farm should be built in:

A gap area between hills B

C » yet('low places are dangerous, avoid lower place')

DT EMERSY
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34-40) Sentence Completion
Birds problem and how to resolve.
34 Vulture study: ml}eed » quantity of m

35 birds tly low when wind is strong, so more birds are in | Fiioc,
36 afixed | .- 1| to monitor the birds activities
(IELTS test papers offered by ks.ipredicting.com, copyright)

37 near the

CDANGERD

(IELTS test papers offered by ks.ipredicting.com, copyright) ﬁlugnr?;TDcEfEth
38 proved to be [ {100

39 can easily s]u'_f model

BRI

40 it also has general mdes
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31-33) Choose one correct letter A, B or C

RARES REABRAA, b RELE K2 ER S8 AR B L P hE
1 Who did this research is going to report:: '

A research by himself
¥ research by e | 5
C research by government g SR £ X P ERT
32 What kind of birds are harmed most? bRy meeey | qoueseer
A birds in coastal region B animals feeding on fish and seafood

o birds which gather in R&E G (Wr#fboth in costal areas and inland, in
coastal regions (H#7iZ) large flocks (/L #FK % animals feeding on fish and seafood )

33 wind farm should be built in:

A gap area between hills B | de T T02
C — » yet('low places are dangerous, avoid lower place')
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34-40) Sentence Completion
Birds problem and how to resolve.
34 Vulture study: -speed » quantity of m

35 birds fly low when wind is strong, so more birds are in -
36 a fixed - to monitor the birds activities
(IELTS ftest papers offered by ks.ipredicting.com, copyright)

37 near the

ALARM DOOR:

(IELTS test papers offered by ks.ipredicting.com, copyright) DO NOT OPEN

38 proved to be
39 can easily shift to the

B
40 it also has general !modes

model




E MITRAAYS
prediciing

R /758 Version 11412

Section 4 ((ﬂﬁ‘jj (“WL?ZE18>> ;—r

31-40 Sentence Completion(one word only)

Measures & description

31 AUV looks like asmall: | .0
- 2m*1.5m weight 52kg

32 actlike a

Can be used to

- measure Water temperature and pressure

33 measure level ol':mconcentraﬁon !Iﬁﬁﬁ‘
(test papers offered by ks.ipredicting.com, copyright) 'l?l’#ﬂl;: Iﬂ
34 Rely on the water and anmE & .
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- water temperature and depth LE;EEE RIS nl:"—r"'.“JJ
Measurements are used to help us conduct

- how the ocean behaves

35how the ocean impacts on the (need excellent climate condition)
Advantages (test papers offered by www.iyuce.com, copyright)

- easy to launch and operate

36 — handle tasks that can not be done by

- Can not ink to ship of [LL0L1] (FEEAEE)

1 Disadvantages
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Disadvantages

. 37 can’t take sample as not to assess the pollution in environment :

aa-— 3 Lo llevel Cbody or battery use heavy metal materials might
| pollute environment )

How to make it 7if:/& Process

[ 1| of sea floor

Collect data from as it moves to the 38
39 /engines use Mand the[ = 1] i
€ N AEF] 7] 1'?fii_/‘ri for commercial use

A BFERAIAR A, RNRAF—IBLEZARRAREFRNERE R, wEETAER .
WF A (pad, B BERAEKMMELT RE | (KFAM)
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surveys : make detailed
Mmaps
The_ oil and gas industry uses
AUVs to make detailed maps of

the seafloor before they start
building subsea infrastructure;
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Section 4

31-40 Sentence Completion(one word only)

Measures & description
31 AUV looks like a small:
- 2m*1.5m weight S2kg
32 act like a
Can be used to
- measure Water temperature and pressure
33 measure level of: concentration
(test papers offered by ks.ipredicting.com, copyright)
34 Rely on the water - and
- water temperature and depth

r
App Storer@S

‘BRATEA
iPhone
FHLAPP

REEH
e




prediciing

Measurements are used to help us conduct

- how the ocean behaves

35how the ocean impacts on the -(need excellent climate condition)
Advantages (test papers offered by www.iyuce.com, copyright)

- easy to launch and operate

36 — handle tasks that can not be done by |11+
- Can not ink to ship of [ | GEEAHED

“ Disadvantages
37 can’t take sample as not to assess the pollution in environment :

‘;«, -level (body or battery use heavy metal materials might

pollute environment )

How to make it Jiifi & Process

Collect data from as it moves to the 38 - of sea floor
39 /engines use .and th ._ggg is pumped between the two bladders
C N A N 1EELAL for commercial use

40 Scientists send the messages by using |- - ||| - phones
lack of: from the antenna in the |" - | wing-tip
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FEET 13 Version 10303

Section 3 ((ﬂ}?jﬁﬁﬂﬂﬂmééw)) §§60ﬁ
EERER. Btk Tescowee |

21-25) Matching

TG H f1 U TRERN B 2 R, (BERELIET
.r?ﬁ:r papers affered by www Dvice.com, copvright)

(test papers offered by www.hvuce.com, copyvright)

21 assessment Introduction -—- Cit is all done

22 body structure {10 —organisation % /¥ ifon internet there is ready made one
23 methods technology 50 FHIKRAG LA L, % carry away too much
il short

24 assessment (assignment) materials "' Tﬂ?i_ L] ﬂé}ﬁ"
woman hope more™* (o prove nresdicting
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Completion
Woman want to set a 25 Mlask for
B A EE T

26 man: can be divided to discuss as a m
27 when debate, practise taking short M

28-30) Choices two persons talk how to make student
practices- Interactive aclivities

what should be put emphasis on presentation ‘s conclusion &£ 17 3% i
A a listening practices facility

man said OK. woman correct it will not be used often J

B m C mentioned both the Email and
chat ...(i5¢ email “FRIERFE] 2RI

D typing skills E [TEE@iE TR

OO EARE B 8, TR, RS SE T

Mimprove computer skills|l¢@slobal access material Qg RS
materials on internet, it is convenient for users, international .__from all over

the world, everyone can use it.
G ***** technology ftest papers offered by www.iyuce.com, copyright)
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FEEUT /) Version 10303

Section 3
 EERR: —B—kitieXFieemasE ]
21-25) Matching

ETAGE H BTSSR A ES, BEEREEIER
(test papers offered by www.ivuce.com, copvright)

(test papers offered by www. iyuce.com. copvright)
21 assessment Introduction e Cit is all done )
22 body structure —- —organisation Z [ i%Yon internet there is ready made one
23 methods technology - B S5 L HIERL, s carry away 100 much
X short
24 assessment (assignment) materials --. Tﬁm—m} "EI'%’T

woman hope more** fo prove mragiiastinea




prediciing

Completion
Woman want to seta 25 sk ﬁ:-rr
SR A B E I 5

26 man: 0110 can be divided to discuss as a -
27 when debate, practise taking short .

28-30) Choices two persons talk how to make student
practices- Inleractive activities

what should be put emphasis on presentation ‘s conclusion F £ 5 i
A a listening practices facility

man said OK, womean correct it will not be used often )

B m C ﬁ mentioned both the Email and
chat ...(% email FBfHI{ER] BEER)
D typing skills E [
OO ERE B iRfE, TR, BTG E
F G _ material [ put the
materials on internet, it is convenient for users. international ...from all over
the world, evervone can use it.

G *#¥*¥* technology (test papers offered by www.ivuce.com, copvright)
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